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4th August SSC CGL Mains Quant mega quiz. (Question) (2nd)

Q1. What is the value of [(sin 7x - sin 5x)+(cos 7x + cos 5x)] - [(cos 6x - cos 4x)+(sin 6x + sin 4x)]?
[(sin 7x - sin 5x)+(cos 7x + cos 5x)] - [(cos 6X - cos 4x)+(sin 6X + sin 4x)] FT FATT AT FX

(@1

(b) 2 tan x

(c)tan 2 x

(d) tan (3x/2)

Q2.

Sinx +\.’§ cos X is maximum when

Sin x +/3 cos x &I AR FAAFTH HT grem
(a) x=30°

(b)x=0°

(c)x=45°

(d) x = 60°

Q3.
What is the value of
[(cos® 28 + 3 cos 28)+(cos® 8 - sin® 8)]7
[(cos® 28 + 3 cos 28)+(cos® 8 - sin® 8)]]
T AT AT HL

(@o

(b)1

(c) 4

(d) 2

Q4.
If sin*B + cos*B = 25in206cos?0. B is an acute angle,

then value of (tan8 +cot8) is
g sin*d + cos*d = 2sin2Bcos20 % 8 Tch g &HI0T %’,

dr (tan® +cotf) sram=aam?
(a) V2

(b)1

(€)3/5

(d) 2
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Q5.
15
If B8 be acute angle and cos 8 = 1
then the value of cot (90° - 8) is
a0 FeT H0T & 3 cos0=—,

dT cot (90° - B8) T AT FT §?
(@) 15
8

(b) 15
V2
(C) 17

(d) 17

Q6. If a sinO + bcosO = ¢, then find the value of a cos0 - bsin@
I a sind + bcosO = ¢, AT cosO - bsin® T ATT FATT FY

(a) ++val — b2 42
(b) +v—a? + b2 + c2

(c)i al +b?—¢?

I

Q7.
Find the value of secB (Hainﬂ mfe ) — 2tan’ @
cosd 1+sing

sechH (“Einﬂ mfg )— 2tan® 8 T AT ATd L
cos 8 1+=zin8

Q8.

Ifsec’ 8 +tan’ 8 = %,then sec*d —tan* @ =
OfE sec® @ + tan® 8 = :—2 £, dr sec*d —tan* 8 =7
(a) 7/12

(b) 1/2

(c) 5/12

(d)1
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Qo.

The least value of 2sin®8 + 3cos8 is :
2sin’ + 3cos?0 F +AAdH Hed & 2

(a) 1/2
(b)1
(c) 2
(d)3

Q1o0.
What is the value of tan (E + ﬂ) ¥ tan (3%: + A) 7

tan(l—'+ﬂ)><tan(3f+ﬁ) HT Al F4T &7

(@)1

(b) 0

(c) cotA/2
(d)-1

Q11. A metal sphere, 14 cm in diameter, is dropped into a rectangular cistern whose base
measures 49 cm x 44/3 cm. If the sphere is totally submerged, by how much will surface of the
water be raised.

14 Y AT G 6 A HT 49 FHT x 44/3 FHY LT ATT Hit SHT § STAT ATQT 8. TS AT T TCE & SR
<o ST &, 7 T i e T 95 ST

(a) 2 cm

(b) 1 cm

(c)4 cm

(d)3cm

Q12. In the given figure, in a right angle triangle ABC, AB = 12 cm and AC = 15 cm. A square is
inscribed in the triangle. One of the vertices of square coincides with the vertex of triangle. What
is the maximum possible area (in cm?) of the square ?

< AT SR |, GHEIT ST ABC ®, AB = 12 ¥t 3T AC = 15 9T . TF a9 &l (st & sia< sifha fhar
SITAT 8. a9 T T AT AL ST HT TH HIAT GHI §. 9 AT ATAHTH G5F AR (FHT2 H) F9T GI?

A

N\

oy
B c

(a) 1296/49
(b) 25

(c) 1225/36
(d) 1225/64
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Q13. The area of an isosceles trapezium is 90 cm? and the height is 5/9t of the sum of its parallel
sides. If the ratio of the length of the parallel sides is 4 : 5, then the length of a diagonal (in cm) is

qUTRATg qae T ATH 90 AHI2 § AT FATS, Tqht AHTAIAL ST o TRT FT 5/9 AT, IR GHIATAL {180
&t TS, FT AT 4:5 ¢, Aot H T2 (AT H) 74T 2

Q14. A rectangular tank is 45 m long and 26 m broad. Water flows into it through a pipe whose
cross-section is 13 cm?, at the rate of 9 km/hour. How much will the level of the water rise in the
tank in 15 min?

THF AAATHE &5 45 Hex a7 3% 26 Hiex == {1 13 T Hig-ae= v 9 el / ST FHr s T ursw &
AR { YT TER T2aT 8. 15 fAme § ¥ § e 1 T e ag S

(a) 0.0016 m

(b) 0.0020 m

() 0.0025 m

(d) 0.0018 m

Q15. A rectangular sheet of paper, 36 cm x 22 cm, is rolled along its breadth to form a cylinder.
Find the volume of the cylinder so formed.

36 THT x 22 Y it F FT T AATH <fie FT TF B a9 F g goeht Ji=Ts F 9 A Fhar srar
g. fda s &t siaw aTa fifma,

(a) 2682 cm?

(b) 6822 cm?

(c) 2782 cm?®

(d) 1386 cm?®

Q16. In the given figure, PQRS is a square of side 8 cm. 2PQO = 60°. What is the area (in cm?) of the
triangle POQ ?

& AT srHa #, PQRS UF & g foreshy [oir &1 w417 8 At 8. £PQO = 60°. st POQ T A=t (Fft” )

T 27
P 0 MEMORY BASED
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Q17. The area of a rhombus is 3675 square cm and one of its diagonals is one-sixth the other in
length. Then length (in cm) of its larger diagonals is

T OIS T A% 3675 T THT & i< 30T T Aol gax ol & ww=ars &1 0 =27 &)1 97 390 9
ol it Fare (T ) T @2

(a) 35

(b) 210

(c) 90

(d) 13

Q18. A right angled triangle of which the sides containing the right angles are 36 cm and 15 cm is
made to turn round on its longer side. Find the curved surface area of the solid so generated

TE gEERr e, R g gfeafoa qemd 36 A & 15 AT @, 7= Toh Sl ST o) M gumEr
STAT g1 S F TF TSI &A% HT IqT A0

(a) 2220 cm?

(b) 2210 cm?

(c) 1836.9 cm?

(d) 2120 cm?

Q19. In the given figure, two squares of sides 8 cm and 20 cm are given. What is the area (in cm?)
of the shaded part?

2 AT i /), 8 FHT SAT 20 AHT F I A T T &, ST AT HT ATHA (FHT F) 7T §?

(a) 120/7
(b) 160/7
(c) 180/7
(d) 240/13

Q20. A right pyramid stand on a rectangular base 32 cm long and 10 cm in width. If the height of
the pyramid is 12 cm. Find its whole surface area.

T A% (IS, 32 9T A9 3T 10 I F1e T AT e X @7 8| It e & F=1€ 12 991 8

THHT qUT T ATHA AT HIforg|
(a) 933 cm?
(b) 936 cm?
(c) 934 cm?
(d) 935 cm?
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cosx

If— = pand = q, thentanx =7
siny COXY
?Slﬁ s:ln:{ — pa_ﬁTcosx — f[. (_-ﬂ- tanx=?
siny COX Y
Bo[ai—2
(a) q 1-p*
P [aiL
(b) * V7
I
(N
a [ai-t
(d) P o4 1-p®
Q22.

If2sinf + cosB = g, then the value of (tan® 8 — sec® 8) ?

e 25in8 + cos@ = g ar (tan® 6 — sec” 8) &I ATA AT H
(@) 7/3

(b) 0

(c)-1
(d) 3/7

Q23.
What is the value of [{sec 20 + 1)Vsec?6- 1| X %{cnt B8-tan 8)?

1
[{sec 20 + 1)Vsec?6- 1| % E'I:C'Dt B-tan B) & AT T4 27
(@) 0
(b)1
(c) cosec 6
(d) sec©

Q24. What is the value of sin (630° + A) + cos A?
sin (630° + A) + cos A FT HTH T §?

V3 /2

(@)
)
© °

(a) 2/V3
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Q25.

m -

, . 1
Iftan @ = ntan B and sin o = m sin [, then — T = ?
e

I_
ST tanl:t=11tan|33ﬂ_~."sincx=msin|3, ar = 1_3

n—-1

(a) CC|53 i

(b) sin® «
(©) sin® a

(d) COSZ (i

Q26. What is the value of [(sin 59° cos 31° + cos 59° sin 31°)+(cos 20° cos 25° - sin 20° sin 25°)]?
[(sin 59° cos 31° + cos 59° sin 31°)+(cos 20° cos 25° - sin 20° sin 25°)] T {1 AT %?

(a) 1/V2
(b) 2v2
() V3
(d) V2

Q27.

The eliminate of 8 from xcos 8 — ysinf = 2
and xsinB 4+ ycos 8 = 4 will give-

xcos[—]—ysin%"=23ﬂ?xsillﬁ+}rcosﬂ=4ﬁ' 8
& §l & 915 AT AT

x* +y° =20
(a)

x* —y® =20
@* 7

() 3x° —y® =10

Q28.

zec® B—cot?(90—8)

cosec? 67—tan? 23

+ sin? 40 + sin® 50 is equal to

sec® B—cot® (90—8)
cosec® 67—tan® 23
(@o
(b) 4
(c) 2
(d)1

4 sin? 40 + sin? 50 f&a & ST &7
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Q29. What is the value of [sin (90° - 100) - cos (m - 60)]/ [cos

(mt /2 -100) - sin (m - 60)]? MEMORY BASED

[sin (90° - 100) - cos (7 - 68)]/ [cos (1 /2 - 100) - sin (n - 68)] FELLETE]
T /T 4T 87 —
(a) tan 26 SSC MTS 2019
(b) cot 26

(c) cot B TIER'I

(d) cot 36
2+1 Full-Length Mock
Q30.If sec O (cos 0 +sin 0) = \/2, then what is the value of (2 sin

0)/(cos 0 - sin 6)? Validity : 1 Month
T2 sec O (cos 0 + sin 0) = /2, ¥ (2 sin 0)/(cos O - sin 0) FT A

T &?
(a) 3V2
(b) 3/V?2
(€) 1/v2
(d) V2
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